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B.A. 57 Semester (Honours) Examination, 2021 (CBCS)
Subject: History
Paper: CC-XI
History of Modern Europe (1789-1870)

Time: 3 Hours Full Marks: 60
The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
alwq TE FeIrefT YT [eEE |
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1. Answer any Six of the following questions: 5x6=30
NBA T 1T BT 2ATAT TS Wes

a) Assess the responsibility of Bourbon Monarchy for the outbreak of the French
Revolution.
T g7 o100 IR ATt wiftg ol 34|

b) What were the defects in the constitution framed by the French Constituent
Assembly?
I Al Tl E @ifte FfRa F @6 e

c) Was Napoleon Bonaparte truly the ‘Child of Revolution’?
CTCATETEA (@A 1 agoR Retas e feeem?

d) What was the Continental System? How did it expedite the downfall of Napoleon
Bonaparte?
TR AT F1? I @fS @Teolifere @onGa orew & gaifTe Fearer?

e) What was the significance of the February Revolution in France?
T FEAA [eiww eqg 1 oo

f) What was the political impact of the Industrial Revolution?
fergy fzies AreiAtes 2o F fee

g) Review Mazzini’s contribution to the unification of Italy.
BOEIE AR Wi w@we #feesar w4

h) What was the political significance of the Crimean War?

i o e siva F feer?
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2. Answer any three of the following questions: 10x3=30
NA T I o5 qvaw Tew wes
a) Assess the contributions of the French philosophers towards the Revolution of
17809.

3bd-97 g Ty affems S=wicTs JemRe 4|

b) Examine the civil reforms introduced by Napoleon Bonaparte as the first Consul.
YN A FCol CTCAIRIN @MAER SoNfs AFRef A 34

c) Briefly discuss the stages of the Greek War of Independence.
Tt Mol Aeawa Rafe ACH WD T4

d) To what extent was the process of industrialization in the continent different from
that in England?
e g afen 2eemiees M afe @ Fovg 7j2e feer

e) How did Bismarck unify Germany?

g e e dvke FEfkE?



